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EERNRE SHEEE SABMIMRKEE (R BERTLEE(EIELEE)

% ﬁ 1 - PR T3 Bt g C | & # w o=
1R 6,421,827
9, 455, 558 3,027,731
BIHER 6,421,827
9, 455, 558 3,027,731
HiRE 6,421,827
9, 455, 558 3,027,731
HiRE 6,295, 540
6,674, 740 379, 200
BEHEHE
145, 400
1 BEEHE
= 1.00 145, 400 145, 400
B EH 468, 000
847,200 379, 200
! BEREENE
R 1.00 468, 000 468, 000
21 BEBERRIEOHE 0.00 0 0
7= 1.00 275,000 275,000 275, 000
22 EWEFTRHORE 0.00 0 0
B®E (5—X) 1.00 104, 200 104, 200 104, 200
WBHTORE
323, 600
3 WEHTOBRE ESES
7= 2.00 161, 800 323, 600
REROEE
2,775,160
4 KBRS & UEBREORE IO ESES
' 7= 2.00 544, 300 1,088, 600
5 EHREO MRS ERI ESES
7= 1.00 1,686, 560 1,686, 560
WEHETORE
530, 400
6 HBHTORE AAMEAE
7= 2.00 129, 200 258, 400
T EETORE B IRNE
7= 2.00 136, 000 272,000
RE R
119, 200
§ EEfER
>3 2.00 59, 600 119, 200




EERNRE SHEEE SABMIMRKEE (R BERTLEE(EIELEE)

% R g - BKSTE B % = B i ® #8 W E
HBIAEDRE
606, 200
9 MERRIRET FER O
EHE (7—XR) 1.00 353, 900 353,900
10 FfRET BMEEXEHTE
EHE (7/—X) 1.00 252, 300 252, 300
I E AL
369, 360
11 REERDO F1 - 2/13—X ERRIEERRB)
a4 7 1.00 246, 240 246, 240
12 REER@ HRA$ER
a4 7 1.00 123,120 123,120
REHH
136, 320
13 HEHEO F1 - 2/13—X ERRIEERRB)
a4 7 1.00 90, 880 90, 880
14 HEHEQ HRAFER
a4 7 1.00 45, 440 45, 440
TS
255,100
15 £BTERREER
= 1.00 235,900 235,900
16 AEFAKR R
= 1.00 19, 200 19, 200
& - |E
365, 400
17 & - 3|E
=l 3.00 121, 800 365, 400
BE
201, 400
18 BE
= 1.00 201, 400 201, 400
BIM/CIM ETFILIERK 0
2,583, 900 2,583, 900
BIN/CIM EjEEHESE 0
145, 400 145, 400
23 BIN/CINEfEstEE 0.00 0 0
= 1.00 145, 400 145, 400 145, 400
hETILOEKR 0
259, 500 259, 500




EERNRE SHEEE SABMIMRKEE (R BERTLEE(EIELEE)

% ffr\ Bk - Bk B % B ¥ : # =

24 BBETILERK 0.00 0 0
s 1.00 259, 500 259, 500 259, 500

BEMETILOMER 0
610, 400 610, 400

25 RIRABMEE TR 0.00 0 0
247 2.00 305, 200 610, 400 610, 400

BEMETLOMER 0
958, 800 958, 800

26 EBHEROTS 0.00 0 0
247 2.00 479, 400 958, 800 958, 800

HETTILOER 0
353, 900 353,900

21 MEETLER 0.00 0 0
s 1.00 353, 900 353, 900 353, 900

TS 0
255, 900 255, 900

28 BIN/CINE FILBREEMR 0.00 0 0
= 1.00 255, 900 255, 900 255, 900

iR 132, 287
196,918 64, 631

EBRMRR 57,287
86,918 29, 631

19 FHEMEHE 1.00 57,287 57,287
= 1.00 86,918 86,918 29, 631

R 75, 000
110, 000 35, 000

20 XFHRR A 1.00 75, 000 75, 000
= 1.00 110, 000 110, 000 35,000
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THEFEE ZAEMHHRRE (R BERTRE (FIIER)

% # s - kT By g B & % S

BRI 6,295,540 + 132,287 6,427, 827
9,258,640 + 196,918 9, 455, 558 3,027, 731

EEALE 6, 295, 540
9, 258, 640 2,963, 100

[EREZ:3 132, 287
196,918 64, 631

T DR A 6,295,540 x 53.85% (35% =+ (1 — 35%)) 3,390, 148
9,258,640 x 53.85% ( 35% = (1 — 35%) ) 4,985,777 1,595, 629

KHBRE 6,427,827 + 3,390, 148 9,817,975
9,455,558 + 4,985, 777 14, 441, 335 4,623, 360

—REEES 9,817,975 x 53.85% ( 35% = (1 — 35% ) ) — 4,954 5,282, 025
14,441,335 x 53.85% ( 36% <+ (1 — 35%) ) — 7,993 7,768, 665 2, 486, 640

KBS 9,817,975 + 5,282,025 15, 100, 000
14,441,335 + 7,768, 665 22,210, 000 7,110, 000

HEREHRLE 15,100,000 x 10.00% 1,510, 000
22,210,000 x 10.00% 2,221,000 711, 000

EBEREN 15,100,000 + 1,510, 000 16, 610, 000
22,210,000 + 2,221,000 24, 431, 000 7,821, 000

LB REE TR EE£#
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THeFE = AMEATHXFER(HR)BERMER(FEIRER)

&HS: 2
¥ HEEERKIEDHIE 15—2%Y
% 73 R - BIKTiE B3 = B & & B &
EX T AC D)
A 0.50 64, 800. 00 32, 400
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 2.00 47, 200. 00 94, 400
HEm (C)
A 1.50 38, 400. 00 57, 600
Hitrg
A 1.00 33, 600. 00 33, 600
& i E2£EH - 1.005—R 275, 000. 00 275, 000
55 :22
& ERETIBORE 1EE (5—R) #HY
% 73 R - BIKTiE B = B & & B &
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 1.00 47, 200. 00 47, 200
& it E%8:H : 1.00IEE (5—R) 104, 200. 00 104, 200
H5:23
£ %5 : BIM/CINEEEH B ZE 1RXHY
4 5 R - BIRTiE B = B & i B &
EX T TCED)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 0.50 47, 200. 00 23, 600
& it EZREN - 1.00K 145, 400. 00 145, 400




Rtz -/ \vr—

THeFE = AMEATHXFER(HR)BERMER(FEIRER)

H5:24
L F R ETIVIERL 1HhEL Y
% 73 R - BIKTiE B3 = B & & B &
EX T TC )
A 1.00 64, 800. 00 64, 800
A (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 1.50 47, 200. 00 70, 800
HEm (C)
A 1.00 38, 400. 00 38, 400
& i Y2825 ;1. 003 & 259, 500. 00 259, 500
£.25
& R RMEETILER 194 FT&Y
% 7 R - BIRTiE B = B & & B &
A (A)
A 2.00 57, 000. 00 114, 000
A (B)
A 1.00 47, 200. 00 47, 200
HEm (C)
A 2.00 38, 400. 00 76, 800
Hitrg
A 2.00 33, 600. 00 67, 200
& E2EH - 1.008 147 305, 200. 00 305, 200
H5:26
&% BHEEROMNS 194 T4
%4 73 R - BIRTiE B = B & & B &
A (A)
A 1.00 57, 000. 00 57,000
HEm (C)
A 4.00 38, 400. 00 153, 600
Hitrg
A 8.00 33, 600. 00 268, 800
& i YE2EH 1.008 147 479, 400. 00 479, 400




Rtz -/ \vr—

THeFE = AMEATHXFER(HR)BERMER(FEIRER)

55 :2]
2 MEETILER 1HhEL Y
% 73 R - BIKTiE B3 = B & & B &
EX T AC )
A 1.50 64, 800. 00 97, 200
A (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 2.00 47, 200. 00 94, 400
HEm (C)
A 2.00 38, 400. 00 76, 800
& it Y2825 ;1. 003 & 353, 900. 00 353, 900
H5:28
2 %5 - BIM/CINE TILEREZ/ERL 1X&Y
% 7 R - BIKTiE B = B & & B &
EX T TC D)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.50 57, 000. 00 85, 500
HEm (C)
A 1.00 38, 400. 00 38, 400
Hitrg
A 2.00 33, 600. 00 67, 200
& EZREN - 1.00K 255, 900. 00 255, 900
219
& BHEARE =)
%4 5 R - BIRTiE B = B & i B &
ERARE
= 1.00 86, 918. 00 86,918
A& EZREN - 1.00 86, 918. 00 86,918




Rz -ET/ Ny —2

THeFE = AMEATHXFER(HR)BERMER(FEIRER)

H5:20
2 EBHRSR 15ty
2 Lo R - BAKTiE B = BOf ol | W = " %
(BHRRERE
= 1.00 110, 000. 00 110, 000
& it 1EZBEH - 1.00 110, 000. 00 110, 000
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